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v The same, the same as

59 9,25 o 4,8 pl 9o Lo the same as g waigolie the same as 4 the same  _ae
S s cals )l s aslio gl 90,2 90,25 0,8 ol 90 5l o the same a5 Jl>
asle 'd‘;ﬁ)gs"

His computer is almost the same as mine.
His computer and mine are almost the same.
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v A few, a little, few, little
asa little .oy, oo )15 a4 ijleds B ol 51 g s g sl o5 olaws xe 40 @ few
i Gtsleds Byt ol 51 S 5 Sl o5 e ne
They have a few books.
A (oS Wiz y») e LS wix 8]
They have a little data.

PG PR NN S RV-Y
c\_gswlp_fu_lpu_;uc\g}glittlejwl().é,aiﬁjﬁ:)pf‘sl,,}olmsm@few
4 e Wz yo Ladsonly |y wed o ool a little L a few ;| Las only ;i uw

D950 58
I have only a few books.
L0 GLS oS olass Ladd e
She has only a little information.
Syl Oledbl oS S daid gl

v As many as
sy 938 51 511858 90 Jlade a5 pl o (lp pme dae G 5l Lo @S many as
9y )5 &
As many as 5 students have taken a seat in the class to take the exam.
Aapdy loiel U asiacis WMS )0 goniils gy Laid

v A number of, the number of
4 The number of .54, o LS 4 aax J 28 U 5 Cuwl (g0loxs 2o 4 @ number of
ile T oo 8,0 J2B b g ol (olows e
The number of students, who solved the question, is fifteen.
D51 ;5 V0 50,5 o 1) Jlaw a5 Sbgmmisls olaws
A number of students, who solved the question, were fifteen.
D51 ;5 V0 50,5 o 1) Jlaw a5 Sbgmmisls olaws
v" Like, a like
dslio oo b ol 1,345 ol g0y like a5 cglas ) b ol aslis alike 4 like (2o
Wl in)S auslie pa b ol 1,8 a5 ol 90 5l o alike Jg g, o0 ,5 4 aig
She dosen't look like her mother.
She and her mother don’t look alike.
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v’ And ... too, and ... so
725 el plgi oo 9925 )15 Cude slaalex )3 (ad 93 950 )0 (llae a5 cnl (sl
2,5 oolazwl

ot Jsl oz +and + pgo ala> Jels + S5 25 + t0O
Coto Jol dhoam + and 50 + (Ko a5+ pgo dlax Jels

Rose can speak Persian perfectly and Tom can too.
Rose can speak Persian perfectly and so can Tom.

v' And ... either, and neither ...
725 I Gl oo 3925 LSS sie slaalon )3 atd 593,50 ;0 (llae &5 Gl 6l
2,5 oolazwl
siio Jol dho +and + pgo dlax Jels+ _dio SaS o + either

o Jol dho> + and neither + Coio  SaS 28+ pgo alax Jels

Mary doesn’t like Mathematics and I don’t either.
Mary doesn’t like Mathematics and neother do 1.

v' Despite, inspite of

gy en )5 4 olai gl Lpf e L €M, glins 4 B> g0 )
Despite the rain, they went outside.
He went outside in spite of his mom's warning.

v So, such
aS s slaaly slea lo> (adverb clauses of manner) o8 =5 sloales
il 525 S5l 0 b aabor ool sims o i |y 55 (uses 585 & o529
a) SO + 0.8 L Ciw + that + ales>
b) such + (@/an (a =5 G > Ciio) + el + that + ales
c) so + much/little + _o,leis b8 e ol + that + ale>
d) so + many/few + gez> i leds bl sl + that + ale>

The problem is so easy that every student can solove it.
There is such a problem that every student can solve it.
They have so much money.

They have many books.

ao o
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v Conjunctions
= A0y, 00 48 @ lews slas le 0,8 L e gl (conjunctions) Ly, slacs >
il GlSs g 0l5 LSl b el > Gl S)b g0 o
and, but, or, for, so, yet, nor : ;| o ,le wodSSl Ly, By >

e. Mary likes swimming and running.
f. Mary is cute, pretty and clever.
g. They went to the classroom and they talk about the issue.

v Adjective Order
Sl ot ke il 51 8 Slao a5 o oSl L 50
(o] gLt + CS + IS5 L o3lail 4 55,4 Cole+ oy mesl) + o]
e Slao (the, a, an) i =5 By, > 5l Cd ) le vl slaailis jl o lais
5 (some, any)  ,.xss Slaw (this, that, these, those) o,Lsl wlaw (my, your, his, ...)
(one, two,...) oo,led Slas
He sells his new small black Iranian car
g Boe |y ez SaoS olew Slpl il

v Adverb order
Sl ad+ e ad+ plej o
Tom walked quickly in the park yesterday.
v" Indirect object
s Jgndo 105,15 Jaxae 90 4y 3L3 095 pagie ol JelS (gl gusie loJed 51 S
Mary gave me a bunch of flowers.
el 525 550 4 Wl w5 prysher Sl |y eines Jpeie sl ]

el + x5 + pudiuno Jondo + LO/fOr + pdiis 1 & Jondo

Mary gave a bunch of flowers to me.
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v' "do" or "make"

o,5 o~ make an attempt

ool slgi, make an offer

58,5 seewas make a decision

o, «:S make a discovering
ooy e make a profit

ools Jss make a promise

o5 oleimake an announcement
9,5 ol make a mistake

o,S k) do a favor

ool alil adSs do homework
obes allae do a paper

8,5 a5 do research

i 1y ln 3,1 do the dishes

53,5 eeasas do the laundry
ool plil 15" do the work

Ly cowe p Lojly hre (Lo yin (S092

A ol oai 0oyl Lysl =N gadgin SOL ol pad digun (pl 31 (B ) Jo9o o
DS dmiem |y s s Bog> 4T WS co SIS Lads 4y oy (40 sl
robie an ol sz L ol oo Jg 0o sai | ofly 095 (ixe (25 b (S0 0
gl b jelaie ol iy Geas a8 (s 51, O (G (S5, 4 Gilosins JSas
g 4l a8 cul oot LS5 (Wigan) + ada, + (g jl o3y o a5 arsl axsls

Ll 00 00)51

8 sladigmy el ot s ol grigun
-en (widen) -ent, -ant (brilliant) -age (usage)
-ate (locate) -ary (revolutionary) | -ion, -tion (profession)
-ize (industrialize) | -ful (useful) -ism (idealism)
-ify (modity) -less (meaningless) -ment (improvement)

-ic (economic)

-ness (greatness)

-ous (dangerous)

-ance, -ence (importance)

-al (universal)

-ship (ownership)

-ly (friendly) -ty, -ity (variety)
-y (wealthy) -al (approval)
-ish (selfish) -ure (departure)

1- prefix
2- suffix
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Luigiiay g als,

il Al ) (o JUwo
ann, enn Jlw annual (4Yls)
auto AYES Automatic (,lSs5)
bio EEY Biography (asl.5a53)
cent Qo Century (cow)
chron oles Synchronize (:ys,5 :ylojen)
crypt o, Cryptic (s3+,)
cycl a5 Cycle (a5 ,>)
dec 0o Decade (aav)
dic, dict oS Predict (5,5 o 5%éw)
dyn Oyl Dynamic (Lg)
gen ol g g generation ( J..)
graph,gram 6, L gs dldgd ¢ yidgs Graph (,l54<3)
homo Ol homonym (ple2)
lateral A il Bilateral (ail>g0)
log cobl aallas mineralogy ( owlis yose)
metr, meter S S o3Il Barometer (,ieg,l)
proto S ¢ s Prototype (45gei jin)
Reg Ol Regular (olase)
scrib, script g describe (3,5 Caogs)
simil, simul sl Similar (asliw)
tele 499 Telework (5,15 ,90)
vid, vis Oyded Visual (s laso)
vine, vict oo ade Victory (s)5,)
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ab-, a-, abs ol iz, (g,m avert (0,5 o)
ambi P ambivalent (_4>599)
a-,an- O9 Anemia (_js>nS)
ante- J8 e antecedent( i)
anti- s antivirus (s pgud)

bi- 99 biennial (LSS Jlugo callugo)
combine (‘ywes oob)
com-, col-, co-, con-, cor- L
cooperate(ys,S 5,5 x2b)
contra-, contro- RV contradict (45 28L5)
dif-, dis- Sl e Vg disconnect (5,5 akad)
extra- $ly8 extraordinaray (solal 34)
in-, il-, im-, ir- 3l shie Wgiien illegal ( Js8 .2)
macro- 9,5 Lo ( S s o macrocode (s5'3,5k)
mirco- S5 3,3 5,50 microcomputer (ab!,5 )
mis- Oladd ¢ gus misprint (o> oLl
multi- ReEs multimedia ( glails,0z)
pre- g W predefined (a5 i ;)
re- o,bgo TEWrite ( owssi;l)
semi- o semi-interval (alols o)
uni- S5 unidirectional (44 <)

&.ﬁ-l-b-bd)b

o=l 50 0ed sauziw e 5l el STy lie aS Cany) Gan Cdlae Sy sl w0
o b g0 Jolo Jlaz (905l 12 000,050 00 plased SSS g pode 5l 0l (o b D)9
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Sl g canl (Blal e 1o 00l ()53 Ol 5l 6 lewn a5 auil ails (bls 4 Wb olsen
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3 plbiond ax 1y dS Wgd oo Az gie Oyae pl 0 ledu 1) oo 2 lae gla ey o]
S o 1) e ilss sl cenlin g, Sl oa g g S yee b e

WS o S Loy a4 LIS (planiSs ba oS palas g ol IS 5 ey s =Y
a8 adlen L adlesn 1) e )550 LSS sl ails 5L ailes oo 1) aasy 35 a5 Jlej
el a8 a3l oaiS s Lol GlSS 55 5100 opl jo0aS QL) ey
S spe 1y (ol 3l

A g ST L LS o5lg iy 1) BISTL 12 £9.590 g 0uS 2w =Y

3B e AlsE Lo Sl Sty o (sl 53 45 a3l 42310 bl 4y o fsen -

95 4 owl s (choose the best answer) ooS Gl 1) au ¥ o X pols e cons

099 5 daiSS ool ) Sewly 095 paded Sledbl cavs y Cansi )5 ax gl Wb 4SS
AsS Ol ) s s 5 oS axlllae | loas 35 den

g.g.Ua.o J)o ‘Slbui'w).;

oo Sl (Sre (505 o (A
cdho Sy 5 ailer slacans wlen b asla 1y e slaosly (sden a5 Cans (53l5 Lo
5l B8 ) gt s St il e 5 SO e e S @ Lo ks |

e Gy by iz 4 Sl @

e 0 Jad o 5lam b LB o selly e cl aid, IS 4y t0 be Jub a5 (g9 )lge j0 )
Sl 05 e L8

s

BNF (or Backus- Naur- From) is a system of writing and expressing the
syntax of a programming Language.

Ol smsiasliny Ol jo 1) Hsiws 5 ol (5 Lty (ol (g5 (L p,9) BNF

DS azgi to be Jab 5l e edes 4 al ai |, BNF xe 31
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el 00 00 5l Aoz 5l (6,500 25w b (6,500 galex ,0 wa> sosly xe B -Y

Most engineering students study in practical subjects. These subjects
provide useful skills and help them to find jobs.

S i Sl lee Dlegdga cplaslyz (oo 6028 Slegdge (ouaite plgzmasls el
A aS Qg o A gl e Sledbl ulwl  wauiils s | practical gosly oo S

S5ism stie sk 45 oo

=y s (osly (sae A ey PRI 0,1 3924 05ly cime S0 6ly o0k sleel, Y
(ot 3l 81 e ladds o, o (ile A Loy e oloe sloalgie gl
Aapd gl ol i g Jeli wledll

The pornographic, violent and other harmful information freely available
to the youth, who must be protected by the society, or other users who lack
the power of judgment or self-control is creating serious social problems.

Lasl (s loryidngs L Lamdeid &ya8 a8 oo oylm)l5 0,90 50 b wsS Coles Ll 51 ansl> b
S = o=l 0850 & CenndlS wils o5 1, "pornographic” xe 515,40 ool 50

Cawl puire Sl

39 58l e Sl G eSSl Ly 50 Laesly 51 (g s ails oo 457 jeb Lo -
o3ly 5l s Ly Bolye 435 Sl e Ysoma sl 35 ez o & (955l
Sledlbol polwlyy L adlgse cdo an 1) e b (69,190 iz 50 a0 o &8l)1 1) 59500
AS Ol ) Canyo gan S ol

I can not see why this company is so popular.
1) watch 2) understand 3) examine 4) notice
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sl I yb gy 9> 1l B &S 2 1l 7 45 o aorgio il ol

oo, azgi (Y 00,5 ool (7 Odeetd (V50,5 samlice ()
Ll JB sl

Loy o2lS 0g-d oo Al BIAT 039S 1o cadly aldls (e ;0 (guuan Lo ofly SO ST-0
IRV U PN V- PRI CORN 2T IRVE IR N S-S S FARVIKCS PONIN IRV SN
g azgio |y (e

(A9 )T jos85) = JLio

The term "Security" brings to mind all sorts of issues that refer to data

protection and prevention of unauthorized access. Furthermore there is no

single definition of the term ''network security'. What are important are

the assets that an organization deems crucial for successful operations and
how to keep that safe.

oLl jloe pd g s 31 (65T gl g ool bl 4y a5 Slegoge glgl plad «ouly sl
3,00 092 g €A Cial O le 5l gusly (i ya ogdle 09l oo s b | wuS e
S92 palinidya 0, Shos (6l lojl S0 45 st Jlgal wiiend w0 &5 plojex
Celgg ] iils oS el (g g 0,0 o0

el o pdas g ledlbl 4 sgame Lasd "Security” oliae sojs> G99 (yie 4o

Iy a0l cae b aisS oSS Lol 4y 2l oo ;53 05lg G 5l a5 Sla e 5 -F
WSS S0
Mass media provide information, and news for the public including TV,
Radio, News papers.
o9 nebs 55l ol e [ ailu )] ol oS co &1l paas slp 1) 6 L3T g DMl ¢ aax slaailes,
aelijy; 9 29
AS azgi b Jlie 4 CunclS wls o5 | Mass media  _se (S
«(,5%5 &,le @) in other words = i.e. «( JoLs) including

(o, ¢) and so on = etcetra = etc. Ol for example = e.g.
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L Wl é_g.lﬂw_m PRI VI - S Ijip_m Sylge Wb bows a4 o5 Fwly -V
G lig Blod 4y Jg Db oo 120l oo aile a5 540 0 a2aS s loosls 4 (homophony)

5 (I5-») "weather" L (azan) "week" ¢ (caas) "weak" : ol o sglate S0 S5 b
(L) "wheather"
He should decide whether he will stay or he will leave here in this weather.
QS S5 ol aslgs o b ailes 9o ol 5o dalgs co LT 8 15 suenas b 4
Their boss wants to know who's working whose company.
S (0 IS (oS Az SIS0 50 (oS e 4T Sl waleS e ol el
9ol Laosly o) ol e 4 el Gl (Jy el odsl Qo (o3l o e O 2B -A
ools as s s oIS (gadsie jl jelate aums s | (parts of speech) #MS algis
o3 (adjective) ciao (nOUN) ol (Verb) Jas sloail 5| G plaS & paie o 090
35l sles (preposition) 4slsl ,> L (adverb)

He can't accept failure easily. He wants that work finished by tomorrow
without fail.

e 5 BTG 5 ity sl a3Y wileads LeSts BLELL oSy 5l i 51 45 looie o -9
39 9 Sl ((£ad50 alax) tOpic sentence wlox G add 5 dad o Lidis |y ed90 S
ol aar 5l 850 55 B S6ar Bl 5 45 o S BT Lo ol 3,50
Slet Al e e 350 50 (IS S0 4 e a5 (nl Gl e e w1 SLS3
oo DL g (Aol slasnsl 15 (e (olwaods jebite a5 .0sS aods 1) o] wledlbl
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iy €9l (o
Lo 5l g G a5 s Laseis ST 03] 50 &l iy glel b S;L.J O ygeo o
S oy 1) canlio (ooognly ST Sl ooy wals 0 S 4

1l oo 5 Ak 90 p gie 5l lagte y (IS 55b 4

(general questions) Jl>lU LS sl gy -
L ades CncdlS Lok g oasd S5 e o Logiins Slyz o iunn £55 ol 51 (S0 o (Gl
L 553 55 3 oo b eyp0 il 39 S i Ty 530 5 Sy Jolis (sloalon
Gadoz 4 daz g b oy ol )0 0 g 59, (Testatement type) pogie (so,bgs Lo
Sl (B L Iy aloz w60l Gtz 5o il Bus galer JLis 4 sl Jlse
39 Bl L 63,lgs 50 il oot 53 Lie oo 40 a5 Sl _olie Moz b aline
S 519y ey gl olae b g3gax0 3 g
el e slome 5 SIS o £9090 2 Lo wndl SISLL SO 51 A Sl (2 51
A aalsl 1) (soms laplE L g 0uiS o o0l 53 o1 o Buas gales a5 1, S1S1L
o oS e Ty e LS b i (S5 Lot lsicoo S & oy s8lo 551
555 Ty 1y o B35 o gy s 5 955 s |y i3 e
5 rlo—d doalor (g 5w LSle 4y S (oo anlie 4035 ez L) e laalox 359
i S 5 5o Wb 1y 5 o)l jelate cnl 4y oS 88 Ll sl aib) IS 4 sle modifier
o3ld gl )l (S L sz az an e S Jlaz 0 48, 15 4 pled pled a5 oS azgi-)
g se
by 98 1y o o e po oS o0 oS Lo s o3 gy )15 sl ol 5,90 53 -
3l 53 5 Wig-Sige 03,51 AN L 8 (ppmels iy a3 Bg > b S5l Lk sl ple (ooll 12) o8
(b0 (3l the (rae ciyjai Sy>Lan b a o
| Son gabor ool oo the (e By jad 8> 5 pled @z e & by jo Sloledl &) 51 oy =Y
Seilye ) e S o3¥ 5500 0T 51 G S gy
(30 splw) : Lo
The biggest safety threat facing airlines today may not be a terrorist with a
gun, but the man with the portable computer in business class. In the last 15
years, pilots have reported well over 100 incidents remains unconfirmed, but

increasingly, experts are pointing the blame at portable electronic devices such
as portable computers, radio and cassette players, and mobile telephones.
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RTCA, an organization which advises the aviation industry, has
recommended that all airlines ban such devices from being used during
"critical" stages of flight, particularly takeoff and landing. Some experts have
gone further, calling for a total ban during the whole flight. Currently, rules on
using these services are left up to individual airlines, and although some airlines
prohibit passengers from using such equipment during takeoff and landing,
most are reluctant to enforce a total ban, given that many passengers want to
work during flights.

The difficulty is predicting how electromagnetic field might affect an
aircraft's computers. Experts know that portable devices emit radiation which
affects those wavelengths which airplanes use for navigation and
communication. But, because they have not been able to reproduce these effects
in a laboratory, they have no way of knowing whether the interference might be
dangerous or not.

The fact that aircraft may be vulnerable to interference raises the risk that
terrorists may use radio systems in order to damage navigation equipment. As
warring though, is the passenger who can't hear the instructions to turn off his
radio because the music's too loud.

Q> What is said about the over 100 aircraft incidents in the past 15 years?
1) They were proved to have been caused by the passengers' portable
computers.
2) They may have been caused by the damage to the radio system.
3) They were suspected to have resulted from electromagnetic
interference.
4) They may have taken place during takeoff and landing.

Lol azma (V) 4z 35 -

fluwl oo AiiS (i 4z ju] JLw 003l 50 (a2lgd Sl gy wuo I i 9590 50
ilosls 759958 by dgxo (> y0 bslayg, oyl Yz ()
Sl 03y L8lae Jo BB sla gnalS o s Ll aS oo colb s (Y
S g guunsloliiag wSUI Jlas e 4y (F

iloads ooyl o930l i 45 dodo Judo 4y (F

030 030 030 o3
oy Sl 4 S S0 s g 0SSy bl e pagie 5 0 By (@
«B3lyi ez (69190 ;0 s axlge blaul go5 5l Sl iy b cyge ol jo
290 S Sjge ]y e So b jshaie al 4 dew; Sl 4l oo ola b (LS
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e 1) Sygo o b ol 0gd S0 o] GLIS G oS axllas (skimming) S
PHigas o0
It can be inferred from the passage ...
As we understand from the passage ...
o Spegd Olg oo e ) Azl
Wb b oty Sl o pases zlicl i blacul (IS S0 5,50 j0 e 0 S
el 00l S i O jgo 4y e (0 AT @3l ,0 olean ¥ Bl @ |)9s
(30 splw) : JLo

Q> It can be inferred from the passage that the author.
1) regards it as unreasonable to exercise a total ban on using portable
electronic devices during flights.
2) has over looked the importance of passenger satis faction.
3) is in favor of prohibiting passengers' use of electronic devices
completely.
4) has overestimated the danger of electromagnetic interference.

Lol azma () 4z 35 -

..................... A5 Sy Azl ol 4 g 0,5 glccwl Glgd o (o Gub
ool 00l 0551 a5l s cwedbliseg wSII s las ()
o 5 & i Sl Jo 55 (sl 25 slootSis ool IS 0 25 (7
D Lyl ol (g iS sloolSiws 51 o y8lace 50 87 ais (¥
Ol bl olo; Conl 50505 (55950 (F

o)|..\3l.’;...:| ‘_;l.bui;.m).; -y

Sl o GBS 5 958 0 ke elive g0 4 Loy barie ded 55 iy 0
D10 0929 cyie Slip b ol 1550 e SYlgw (pl a4 oS5l

g oo ke ) ©)ge & a3 llinl g5 5l a8 (Yl
e Sl Sa5 oS oy o |y el SUles 45T Sle i (main idea) Lol gous! (I
g0 Tohae 25 Dyge 4 i (nl ot o0
The main point of the passage is to ...
e dS Sl e Lol (gaiSS
The passage is primarily concerned with ...
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The chief theme of the passage can best be described as ...
POV IR Sy90 50 LS jeb a e Lol asleiyg

Which of the following statements best expresses the main idea of the
passage?

J.S‘SAMAM ................ O)F)OEMOLQ

a8 (o0 ol K o e 4 1y e ol el 3 slaady 3551 S5 plas
CedS La 88 09l 0 0ty yis Slol oyl ot g5 Bl D50 y0 aS oo (ol yo

el |y SLSTL o ShL g oaiSes,l slaalax
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Q>The passage is mainly about ...

1) effective safety measures for air travel.
2) the defects of electronic devices.

3) a possible cause of aircraft crashes.

4) a new regulation for all airlines.

Lol azma () 4z 35 -

¢ 390 40 bd.o.cu.a.ouﬂ
Ll glsp bohd gden 5l iz S ()
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S g 1 ot 4y 590 by oo Jlorl 5 Jlsaalis, (IS5 51 5 S geies e
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g o0 ohae 5 D yge 4 iy Cnl Lol
According to the author, ...

oty 55 b

According to the passage, which of the following is true?

The author states all of the following except ...

e 320 Sl 00,5 S8y 55 sleaiy 55 pled onin gl
D 0 Ol o0 iblyS oo |y (5 et el b 03ly Bol e &7 pla sy 50 g, 00l
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(30 splw) : Lo
Computer animation can also speed up the teaching process and make
difficult-to-explain ideas straightforward. For instance, a curved plane in three-
dimensional space may take a teacher several minutes to explain or draw by
hand. But on a computer, it requires only a few keystrokes or mouse-clicks in
order to provide a visual representation. Another example is visualization by
computer software. For example, the relative vibration and stretch of atoms in a
molecule at different temperatures can be simulated and visualized by computer
software, making this abstract microscopic behavior easier to understand. This
means that teachers can spend more the answering students; questions and
catering for other needs. Consequently, computer software can shorten the
learning process by illustrating real-word applications of abstract theories.

Q>In present paragraph "stimulated" is closet in meaning to:
1) replaced 2) repeated 3) simplified 4) reproduced

Lol grazma (V) 4z 35 -
Tl 5003 ) ojly 3l SO plas & “simulated” o5lg Fxo «B1,51,0 5o
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Which of the following is the best title for the passage?
ol e ln Glyie e ) slaan S5l Sy plas
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The title of the passage is ...

Considering the text, which of the following would be the best title for the
above passage?

Sl Vb e slp e Olgre nj ladi3S 516 plaS (e 585 i o b

(A6 syl : Lo

Are your running shoes too hard for running on asphalt? Too soft for a dirt

track? No matter, because, according to Adidas-Salomon AG, in

Herzogenaurach, Germany, the Adidas I running shoe will continually adjust

the firmness of its heel to make sure it always feels right : softer on concrete,
firmer on grass, for example.

The preferred firmness of a cushion in the heel is selected when you push
either of two buttons on the side of the shoe, one carrying a plus sign, the other
a minus. These in turn activate a motor that tightens or relaxes a steel cord to
give the heel its variable firmness. Five light-emitting diodes on each shoe
indicate the firmness levels. The hollow plastic cushion in the heel contains a
Hall Effect sensor, which reads the strength of an electromagnetic field created
by a magnet near the bottom of the heel. As the runner's foot strikes the ground
and the plastic cushion is compressed, the sensor measures the change in field
strength. It sends this data to an embedded 20-megahertz microprocessor in the
shoe's arch, which calculates to within 100 micrometers just how much the
cushion has been compressed, and adjusts the cord tension to maintain a
constant level of firmness no matter what you're running on. This cycle of
sensing, measuring, and adjusting happens 10000 times a second. You won't
notice the cord's tension changing until you start moving, because the motor is
activated only when the foot is in the air. This ensures that it is not wasting
energy by fighting against the runner's weight.

Q{)Considering the features of the given shoes, which of the following would
be the best title for the above passage?

1) Smart Shoes

2) Adidas I running shoes.

3) Adjustable Running Shoes.

4) Adidas - Salomon AG Special Shoes

] oo M) A..u)f -

fanl o (sl e Olgne 225 B4R 35 51 o pluS g5 de la il Clasdu 4 4295 b
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The paragraph preceding the passage would most hkely about ..
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The paragraph following the passage would most likely about ...
OV S 3,50 55 Yz (el gomr BI,STL

A5 il Slao JLis 4y by 3l Tl jolax 055 (il 4y Cons oaisS sBwo b

Wgd oo grhe p) Ojge 4 iy ol
The author’s attitude toward the problem can be best described as ...
IR JUUT JKo a Sygo i 0 JSie 0,050 cdsn sl 0,55
The author’s tone can be ...
SOV [T O ygeo Ay 0l g5 0,559,

Which of the following can best describes the author’s tone in the passage?
oS (oo rog i |y oo sd 9,509, b 3,50 ) slaan 35 51 G plas
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Mary wrote the book. She published her work by News Publication.
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She wrote the book. Mary published her work by News Publication.
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It is an important point that information security is, inherently and
necessarily, neither hermetic nor watertight nor perfectible. No one can ever
eradicate all risk of improper or capricious use of any information. The level of
information security sought in any particular situation should be commensurate
with the values of the information and the loss, financial or otherwise, that
might accrue from improper use-disclosure, degradation, denial, or whatever.
Bruce Schneider makes this point in Secrets and Lies: information security is
about risk management.

Y The word "all" refers to ............
1) guises of security
2) cases of electronic data
3) definitions of information security
4) computer security and network security

ool gzo (V) 435 -
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Q>The ............... of data from a program can alter its result drastically.
1) omit 2) omission 3) omitted 4) omissional

Lol gazma (V) 4z 35 -
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Three engineers are needed for work on the new program.
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a) To learn several experimental technologies takes a lot of time.
b) Learning several experimental technologies takes a lot of time.
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O That aircraft may be vulnerable to interference raises the risk that
terrorist may use radio systems in order to damage navigation equipment.
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Eagerly advocating rehabilitation, Gena has always believed that individuals
who have been imprisoned deserve the opportunity to return to society as
............ citizens.
1) voluntary 2) crucial 3) productive 4) internal
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Talking to her father, Tina left the room.
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Unable to .......... the tyrannical rules and regulations at the hostel, young
Vivian thought of escaping in the dark of the flight.
1) scold 2) acclaim 3) bear 4) treat
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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

1- The warm sun and enough water caused the plant to ............ in a few days.
1) flourish 2) boost 3) proceed 4) propel
2-  Unfortunately the patient ............ many symptoms of heart disease.
1) expressed 2) conducted 3) attributed 4) exhibited
3- They accused the President of ............ information from Congress.
1) surrendering 2) withholding
3) terminating 4) abolishing
4-  The President's power is severely ............ by the Supreme Court.
1) circumscribed 2) penetrated
3) sophisticated 4) circulated
5- e refers to the fact of two or more things becoming one.
1) Disposition  2) Consensus 3) Confluence 4) Compromise
6- You can add the fluid to the powder, or, ............ , the powder to the fluid.

1) conversely  2) instantly 3) rigorously 4) intensely
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7-  Her latest book, ............ "An Introduction to Applied Physics," is out this
week.
1) illuminated  2) contended 3) acquainted 4) entitled

8- The.......... of a sense of hopelessness is evident in this novel.
1) persuasion  2) exposure 3) pervasiveness  4) impulse

9- The President was ........ with admiration for the country's technological
progress.
1) extensive 2) replete 3) excessive 4) surplus

10- Because of its ............ population, this a good area for wildlife.
1) unfastened  2) shallow 3) concise 4) sparse

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. The mark the correct choice on your answer sheet.

There are obviously many theoretical motives for studying the history of
science. ...(11)... would study that history in order to throw light upon his own
task, and to increase his enjoyment of it. However, the people who study a
subject for theoretical reasons are probably exceptional. Most students ...(12)...
definite training for practical reasons, such as qualifying themselves for a trade
or profession. ...(13)... from their angle, then, the study of the history of science
will complete the training of scientific teachers, ...(14)... well requires a kind of
perspective that can be obtained only historical inquiries. Furthermore, the
study of the history of science will improve the qualifications of students for
many parascientific positions having to deal directly or ..(15)... scientific
pursuits, such as those of librarians, editors, curators of museums, and school or
government administrators

11- 1) Men from science 2) A man's science

3) A man of science 4) Scientific men
12- 1) submit themselves to 2) submit them for

3) are submitted for 4) are submitted to
13- 1) That they look at itself 2) Looking at it

3) They look at it 4) When it is looked
14- 1) as for teaching 2) as if to teach

3) since if teaching 4) since to teach
15- 1) to indirect with 2) indirectly with

3) to indirect in 4) indirectly in
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PART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1),
(2), (3), or (4). Then mark it on your answer sheet.

Passage 1

The need for computing large amounts of military data in World War II led
to the development of a large relay computer at Bell Telephone Laboratories.
This computer, like smaller ones developed there by George R. Stibitz in the
carly 1940's, was made entirely from standard telephone and teletype
components, such as relays, paper tape punches, and paper tape readers.

In this computer, built in 1946, sequences of instructions were read from
looped paper tapes. Most instructions took one to two seconds to perform.
Twenty numbers of seven digits could be stored. This was the first system to
have storage of numbers as a separate function, to provide loops and branches
in programs, and to stress self-checking and unattended operation.

Meanwhile, Aiken was building the Mark II computer; this large relay
machine was completed in 1947. The IBM Corp, built a relay computer called
the Selective Sequence Electronic Calculator in 1948. The machine mainly
contained relays, but it also used some electronic circuits for arithmetic
operations.

The top speed of a relay computer was 10 additions per second. By the late
1940's, it was clear that the relay as a computer component had been made
obsolete by the electronic circuit, which provided much higher operating
speeds.

16- The passage is mainly about ............ .
1) early relay computers
2) the differences between relay computers and electronic circuits
3) the uses of relay computers in World War I1
4) computing military data

17- The first relay computers were ............ .
1) developed during world wars
2) made by the staff at Bell Telephone Laboratories
3) used to interconnect telephones in military bases
4) made to server military purposes

18- The large relay computer at Bell Telephone Laboratories ............ .
1) could store up to seven numbers
2) stored numbers in the same way as the earlier systems
3) was too slow perform a number of instructions
4) had built-in paper tape readers
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19- Where in the passage does the author mention the advantages of the large
computer at Bell Telephone Laboratories?
1) Lines 13-15  2) Lines 7-8 3) Lines 9-11 4) Lines 2-4

20- According to the passage, the electronic circuit ............ .
1) substituted the relay as a computer component
2) contained speedy relays
3) was first developed by Aiken
4) was made long before the relay computers

Passage 2

John and Neumann and the Eniac group conceived a machine, called Edvac,
using mercury delay lines as memory. Several other machines based on its plans
were finished before Edvac began operation in 1952.

The first of these was the Electronic Delay Storage Automatic Calculator
(Edsac); this machine was the first stored-program computer to be completed. It
was built in 1949 by Maurice V. Wilkes at Cambridge University in England.
The U.S. National Bureau of Standards finished its Standards Eastern
Automatic Computer (Seac), also patterned on Edvac, in 1950. Seac was the
first American stored-program computer.

Meanwhile, Mauchly and Eckert had started their own company and had
begun the design of the machine that was to become famous as the Univac I
(Universal Automatic Computer); it was delivered to the U.S. Bureau of the
Census in 1951. Univac was produced in a number of copies, and it became the
first commercially available large computer. In the next few years, about a
dozen other delay-line computers were built, but no copies of these machines
were produced.

All these computers with delay-line memories had a number of common
features. Their speed was limited by the memory delay time, usually several
hundred microseconds. The arithmetic unit was usually small and entirely
serial, working on one bit at a time. Addition time was typically several hundred
microseconds; multiplication, performed by repeated addition, took a few
milliseconds. Memory capacity was around 1,000 word. Most of these
computers worked in the binary system; only Univac used a decimal
representation. Most initially used punched paper tape as input, but Univac had
an elaborate magnetic tape system.

21- Why did the author write the passage?
1) To criticize the use of delay-line computers
2) To propose ways of improving the functions of delay-line computers
3) To illustrate how a delay-line computer works
4) To present a history of delay-line computers
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22- According to the passage, Mauchly and Eckert's Univac ............ .
1) was produced and sold in large quantities
2) competed against other commercially available delay-line computers
3) was licensed by the U.S. Burea of the Census
4) was designed based on the design of Edvac

23- The second paragraph is mainly about ............ .
1) the first stored-program computers
2) computers which were designed in the U.S.
3) machines which were patterned after Edvac
4) large computer manufacturers

24- The writer's attitude toward Univac could be described as ............ .
1) scientific 2) favorable 3) argumentative 4) impersonal

25- All of the following are among the common features of delay-line computers
EXCEPT ............ .
1) serial operation
2) choice between binary and decimal number representations
3) small arithmetic unit
4) limited speed

Passage 3

For information processing, the advantage of full text in magnetic-tape form
lies in the potential of language data processing. An example is the preparation
of a concordance -an alphabetic list of significant words from a text, showing
the context within which each appears. Computer-produced examples include
concordances of the Dead Sea Scrolls and the works of St. Thomas Aquinas.
This technique has been used in reference systems to produce indexes to books
and, from key words in titles, to articles.

Computation of the statistics of texts -word frequencies, lengths,
distributions, and associations- has application in reference systems. H. P. Luhn
suggested that the words appearing most frequently in a text could be
automatically assigned as subject terms. Word associations have been used to
construct thesauri and classifications such as those used in libraries.

Deeper analysis of text requires an ability for the computer to handle syntax
and semantics. Experimental programs include rules for determining the syntax
of sentences. Each program derives the structure of a sentence from the
syntactic classes for the words in it, as specified in a dictionary stored in the
computer. Comparable techniques have been used as aids to humanistic
scholarship. For example, a computer analysis of style, based on patterns of
word usage, was used to substantiate assignments of authorship in the
Federalist papers.
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The most ambitious application of language data processing has been
machine translation from one language to another, one of the tasks first
suggested by Bush. The results to date are far from a complete mechanization of
high-quality translation, but they may produce translations adequate as aids.

26-

27-

28-

29-

30-

The passage is mainly about ............ .

1) language data processing

2) how computers handle syntax and semantics
3) computerization of text analysis

4) the use of computers in libraries

The word "each" in line 6 refers to ............ .
1) list 2) context 3) text 4) word

According to the passage, experimental programs ............ .
1) contain syntactic and semantic rules

2) include syntactic and semantic classifications of words
3) enable the computer to determine the syntax of sentences
4) are used to install dictionaries in the computers

What is the writer's attitude toward machine translation?
1) disbelieving  2) humorous 3) unfavorable 4) depressing

Which of the following best describes the organization of the passage?

1) A description of language data processing is followed by a list of
examples.

2) Persuasive opinions on the use of computer in language data processing
are given.

3) Several applications of language data processing are described and
example are given.

4) Various applications of language data processing are compared and
contrasted.
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Warm
Flourish
Boost
Proceed
Propel
Patient
Symptom
Attribute
Exhibit
Accuse
Surrender
Withhold
Terminate
Abolish
Supreme

Court

Circumscribe

Penetrate
Sophisticate
Circulate
Disposition
Consensus
Confluence
Compromise
Fluid
Conversely

Instantly

rS

OS5 S, —ogl>

08 b B

085 pladl =0 S &S
ool &S - yols Feuw
Slo =900

Sl - ol

OO S — o

ools &l = als ioles
OO i
REFESRR I
OIS &2y

ool okl

OO Cgme

sl - Jle

oSols

0855 LA g 3995
20 O35S d9

ol B~ (40 )S A pdey

OO S8 - 08 piie

o - g5y

glozrl = (sogee Zuls,
S L Jlasl
T it
gl —Jbw

ovSxe
e - 5,98 - slalad

Exposure

Pervasiveness

Impulse
Admiration
Progress
Extensive
Replete
Excessive
Surplus
Unfasten
Shallow
Concise
Sparse
Obviously
Motive
Enjoyment
Exceptional
Profession
Train
Definite
Obtain
Inquiry
Military
Teletype
Component
Punch
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Rigorously
Intensely
[luminate
Acquaint
Entitle
Evident
Novel

Persuasion
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Unattended
Meanwhile
Arithmetic
Obsolete
Circuit
Staff
Advantage

Mention

Cublye o

ol

Tgmio —AigS —S g0

Olase, 5
Sguw —odyld
JURVETSIW



	00-Esteghbal.pdf
	PART-1
	01-Cover-1.pdf
	02-Fasl-01

	PART-2
	00-Cover.pdf
	05-S-89
	06-S-90
	07-S-91
	08-S-92
	09-S-93
	10-S-94
	11-S-95

	PART-3
	000-Cover.pdf
	02-Doctoinary-1
	03-Doctoinary-2




